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1) 7:38 Thank-you Sir for this wonderful Class Session of today's.. . ,
2) 17:55 And

My Answers for today’s homework are like-
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The fourth pzﬁportmnal to 5 9 15is:

5,9, 15 &I
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The meana%_\?portlonal between (3 +v2) and (12 -V32) is
(12 - \32) & &9 3i9d

(V3 + 2)
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If first and second term of continued proportion are 7 and 28, third number is 112
then fourth term will be ?

gie FARAR SUTd 1 Ugel 3R SER1 UG 7 3R 28 B, Al Tm 112 B, dl Al
g g2
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What is the value ofx if it is 4% of the fou%ﬁroportlonal to5, 8 %nd 257
W 4%

X D] HH 1 8, Tic I8 5, 8 25 %
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By how much the fourth proportional to 26, 143 and 68 will be more than third
proportional to 49 and 637

%%”1?43 3R 68 T YT FHTIUTGH, 49 3R 63 & IR FHUT! § fhaT 3fed
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Find the value of X, when x is a mean proportion between x-2 and x+6_?

X T |- 1 ST X, x-2 3R x+6 & S Th A1 3T g2
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The ratio of two numbersis 5 : 4. If the sum of both the numbers is 180, then what
is the smaller number amon%both the nhumbers?

| 3fG I SRSl BT AT 180 B, 1 &l Haf
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The ratio between the numbers is 3 : 4 and the sum of their squares is 625. The
numbers are ?

TRATST DT AT 3 : 4 B 3R 37 711 b1 ANT 625 B T & 2
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At a certain party, first the ratio of boys to girls was 5 : 3. If after 10 boys left, the
ratio becomes 1 : 1. How many people were originally at the pa
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A container contains milk and water in the ratio 3:4. If we added 7 liter water |
then the ratio becomes 5:7. Find the initial quantity of milk?

o9 § g 3R U : oltex Ut fier € i :
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If A & B together have 9600rs. If 4/15 part of A is equal to the 2/5 part of B then
find how much money does B have?

gfe A 3R B & UM Tb 1 9600rs § | TS A HT 4/15 UFTB & 2/5 U &
aﬂaA?%a‘rBsmwﬁﬁBasw aA=r%?4 > B AR
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Rs 6300 is divided among A, B and C in the ratio of 1/2: 1: 3/5. What is the share
(in Rs) of B?

6300 ¥UY & U, &t 3R I & &g 1/2: 1: 3/5 & U H dicT TAT 8| B HI
%W(wﬁrﬁ)qw ? ° Tl
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There are 43800 students in four schools of a city. If half of the first is equal to the
2/3 of second is equal to the 3/4 of third is equal to the 4/5 of fourth. Then find the

numbergstudentlgschoolsecon%% @$ % 2 TR ®
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